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~ West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2013

PART - 11

ECONOMICS — HONOURS
Paper - I
( OLD & NEW SYLLABUS )
Duration : 4 Hours ] | [ Full Marks: 100

The figures in the margin indicate ﬁdl marks.
ARTE MATNGTT T 16 |
Use separate answer script for each Group.
AT Reivon o M Tezda TR FF

Group - A
Tor - =
{ OLD & NEW SYLLABUS } .
[ Marks : S0 )
1. Answer any three questions : 3x4=12

¥ (B &6 oo @;@ﬁ fae )
@\ What is natural nionopoly ?
OIS @HET TR e i e ¢
@ ‘What is monopolistic exploitation ?
SETR FTRRIRT (Al I R ([T 7
<) How can risk be reduced through diversiﬁcé.tion ?
et am §f@ Reoma gor 0 W9 2
d) Show that eIasticity of supply of an input governs the level of rent.

AW (T YIOWE Wia! W67 @ TAMTET (TR Ffegoresiy Som

‘What is quasi-rent ?
ol e PR T 2
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2.

b)

c)

" Answer any one questlon . : . 1x8=8
(@ @ &F6 40IT $%F e
a} " Discuss the role of conjectural variation in determination of equilibrium under

oligopoly.

Wﬁmwﬁ@wﬁ@wqmmgﬁmwwwu

Consider a two-factor competitive inodel in which the absolute return to one

factor increases compared to absolute return of the other factor. Show that the

relative factor shares will be determined by the elasticity of substitution in this

. situation

'meﬁmﬁwwﬁWwaﬁﬁwmwww

g o | mwmam@wﬁawﬁwworﬁ%@amw@ﬂﬁ%wm

Is the existence of excess capacity a.n_ inevitable phenomenon in the

monopolistic competitive market ?

amﬁmﬁ%mfmmw%ﬁw%&%ww%ﬁ%%wﬁm#?

Answer any two questions ; | 2x153=30

A @ w6 ofexa e e

)

b)

Explain the equilibrium of a monopolist under third degree price discrimination.
Show that under .price discrimination, price is relatively lower in the market

with more elastic demand. _ ' : 8+7

PO A A SRPIC CFE SPBHA TR SR [ T N (T, T
JRFITIL CFC@ (T IR VoK Fafogioerel @ ORI FRIFPTeIE W 9 2 |

Derive the budget line of an investor facing a choice between a risky asset and
risk-free asset using standard deviation of returns as the measure of riskiness.
Show that equilibrium of a risk-averse person using indifference curve under

the above situation. 8+7
e Rivenseda cva oy ¢ e o et @ o s zw 3 iy e
st Fpfe e s Wl 61 28 7 qreem YRRy R e e e
RIS STy il B O FRTsrs @R SIRI T 9 | |
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c)  State and expla.m the condltlon for ‘short- run equilibrium in monopolistic
competition. Can a monopohstic competltwe firm earn supernormal proﬁt in the

long-run ? Argue in favour of your answer. : 9+6

awﬁmmmmmmwﬁﬁﬁw%mﬁﬁq—eaw TETL 9@l T

_meﬁwmmmﬁww@mwﬁﬂﬁww:
d) Explain the concept of Nash’ equilibrium. Is the duopoly model explained by
"-Cournot attend a Nash equlhbnum ? Why the ﬁrms wdl not be wﬂhng to play
- cooperative game strategy in this case ? R o - - - DAD+S
A TP 9IS R QIR 7 PR Qi e o qft RO A SRy Seite
7F 7 o Tt 4 SRAIRORETe (R IRE I A @ 2
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Group - B

faemt - 9

{ NEW SYLLABUS )
[ Marks : 50 |
4, Answer any three questions : : ' . 3x4=12

@ @9 felb arxg Tag = |
What are the Keynesian conjectures about the consumption function ?

(SI] SLHE TN (BTN PAsvee & & 2
b}  What is money ? Distinguish between fiat money and commodity money.

el sreel 1 et o1l @ HRy WO Sy SHTIE Cra |
c} What is Sacrifice ratio ? Explain.

SN SRS I ICT 2 AN B |

'd}  How are investment decisions related to Tobin's q?
i~ seerrE Prangs i P8R Tobin's g-93 ANY S™FTEF 2
e) 'Why did the New Classicals criticise Keynesian Economics as fundamentally
flawed ?

w9 FNCTEE SN (PETTN ALTFE @A cs“ﬂ%mwﬂ%q- JE FANETG ICICEA 2
f)  What do you mean by Fisher effect ? Explajn

Fisher effect 378 B @R ? T[T FEH |

5. Answer any one question : , 1x8=8
@ (P G0 2TI9 T6F i
a} - Explain how money can be treated as an inventory to show that the transaction

demand for money has interest sensitivity.
Wl e ROTR B v@ Feow ang 31 a9 @ ARIse weR i e e
Gorg G773 2

b} How does the Real Business Cycle theory explam fluctuations in employment ?

Discuss.

-WW.WWW%@W'-W%@WWWWW?WWI K
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c) "Higher expected money growth in the future leads to a higher price level today."

Do you agree with the statement ?

sﬁwwwﬂammgﬁaa@mmmmwaw —-worﬁrﬁm?é

| IGRA AR APTS (A9 P& ?

6. Answer any two questions : - ' 2x15=30
(T (T W% ore TR fuw
a) Show that workers' misperception_ about the rate of inflation may lead to a
reduction in unemployment as a policy impact, but only as a short-run
phenomenon. '

Ww%ﬁw%mmw e TFeTS RETR FHHIE @S9G
OIS ST )" — T T

b) Explain how the Fisherian theory of Intertemporal Choice explains the effect of a
rise in real rate of interest on consumption of different periods. What may
happen to consumer's optimum choice for a borrowing constraint which is
(i} binding and (ii) non-binding in nature ? - ' 10+ 5
I | (O A 53 el Yoo T I (i) 94 Toifhe Iy ATF @3R (1) I @9
STl Sy A Al 2

) How did the new Keynesian economists explain the stickiness of wages and

prices in the short-run ? Discuss.

WWWWWWW@H%WWW@W?W

P |
d) ~ When does the capital stock reach at the steady-state level ?. Explain your
answer with the help of the neo-classical model of investment. What is the

impact of investment tax credit on investment ? Explain. ' 12+ 3
T PRER TGS steady-state TR I 2 771 FHRE RFEIS TOER TR A=
TG W FEA | AL T T T BT (e T [ o o T oor cww

QI THH |
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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2013

PART - 11

ECONOMICS — HONOURS
Paper - IV
( OLD & NEW SYLLABUS )

‘Duration : 4 Hours | [ Full Marks : 100

The figures in the margin indicate full marks.
Use separate answer script for each Group.

AFEH FRANSTET ofIETa e |
‘Group - A - |
e - %
1. Answer any three questions within 100 words : _ ' 3x4=12
@ @ Tt 4 87 S yoo @ wigy T ¢
a) How can you distinguish between pre-conditions for take-off and take-off
' stages ? |

G SfAAORA] ¢ SEIT — 9% R T ey RevoT SN T ¢

b}  What do you mean by sustainable development ?

TN RIS T @Ry e

c) How is human development iridex constructed ?
R I o (PO Sl I 7 2
d) Explain the concept of Lorenz curve as a measure of inequality in income.

WY (A ARMT BTR Lorenz (R 191l Iy %4 |

e) ‘What is meant by ‘tragedy of commmons' ?

TR FO19T] 70T 5 (i 2
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2, 'Answer any one queStioﬁ o 1x8= 8
@ @w xs}asﬁ} ema @m f‘w
a) "Pa.r caplta income does not accurately measure an: 1mprovement in the

standard of 11v1ng of the majo’nty oi‘ popillatlon 5 Examme the vallchty of the
statement in the context of. uSefuhless of per cap1ta mcqme as an mdex of
: development or underdevelopn‘ient
T "'. wﬁvfm mmﬁgw 'ﬂﬁzﬁ sifzis 17— S
| -,Wﬁwﬁm@ ‘ﬂwﬁrgw WWW aiww@mm@m |
b) . Explain the concept. of cap;tajwutputb ra.t;to as -an, instrument of development_ |

planmng

_ @aﬂwwﬁww%‘m@quﬂw@ewmﬁmmwn |
c) Explam the concept of low level. egulhbnum trap. What are the routes through .

_whlch an econorny can escape from th&s trap ?

"-me*mwwm armorrﬁ,‘amnaml ﬁ@mdﬁmﬁﬂwaﬁwm@mq@f
- memcREr o
3. Answer, any two que'st‘i'ons o x ><15 =30

“c*:m&%ﬁm@mﬁw

'a} N Derwe Amartya Sen s condmon for the e:xlstence of surplus 1abour m a peasant
.' farmly that practlces sulaslsi‘ence fa.rmmg Hence prove thaf zet'o' ma.rgmal
' productmty of labour is. nelther necessary nor. suﬁiolent for the emstence of
surplus labour. - _
‘ 10 +5
| %ﬂm Wﬁ%&%ﬁq@ mﬂ%w ﬂﬁamw i Aol 16, WW
mmwmﬁaﬁmW| W@%@emm@awmm@wﬂww
.. zew mﬁmmm msr%ﬁmn
b “ Explam Hams Todaro model on m1gratlon unemployment ancl development" :
'_In this framework show that creaﬁon of _u' ban" em‘pibyment wi]l not solve the

Wh;:lt should be the most'

_- unemployment problem ina less develope""' pntr
. : appmpﬂate PohCy for curbmg; mral»urban ng,rauon m your opmmn > 8+ 5 +9
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5, Wm\w aiﬁmfﬂﬁﬂemﬁ%wﬁwwﬂmm aswma'
TR (4 (7 <Rt el iR HEme (e (R AR T 200 S [ WioR
TS ST (AT =R 2f5a HHE FAM & e oy A o 0

c} What factors are responsible for differences in technological choice between less
developed and developed countries ? Discuss in this context the conflict between
employment and 'surplu's generation in the process of choice of techniques in

less developed countries. ’ 5+ 10
wﬁﬁm\@ﬂ—mwaﬁﬁﬁmﬁmmwawﬁsﬁsﬁmﬁﬂaiw
CATTNE 01 TSl (e BAE APy SRR @32 B8 G NG REN 79

HTET S
d)  What are the limitations of Head Count ratioc and Poverty gap ratio in the
measurement of poverty ? How does Sen's poverty measure avoid these

shortcomings ? Explain. ' 7+8
ey Aot A s WS GT TR FE SRR G M o o
i<y sifEsst ol el @2 wihel QoIS sirm 7 m )
Group - B
et - ¢

4, “Answer any three questions withia 100 words each : Ix4=12

T o oAb eftarm Ted afelt 100 =3 we W |

a)  When does market fail ? When does government fail ? 2+2
T G O ZH ? P TAP F A 7

b) | Give reasons in favour of protection of commerce.
%1fere; Fame oiow TreeR S v

c)  What is Prebisch-Singer thesis ?

C Colfe o o e 2

d) Define international transfer of technoldgy.

e efe TamEe e )
e) What do you mean by decentralised planning ?
e sifawse w@10s 6 @ae 2
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5. Answer any one question : 1x8=8
@ FH @I AT TeR it

aj D1scuss Emanuel's theory of unequal exchange

i*m:fmw o RFE ol S S|
b}  Explain the need for economic planning in a less developed nation.
HEIAS (0 DRSS STEAT ATITNTS! IAA T |

cj Discuss the main functions of the World Bank.

e aTCEd o1 S STl 326 |
b, Answer any fwo questions : 2x15= ;’5;0
@ (@ wE oted $ud W

a) Evaluate the structural adjustment programme of IMF. Ané,lyse the nature of
third world debt crisis. ' o 8+7

W@WW@@WW@W%WW(MP er@iﬂﬁmﬁ

CreiafETd st SRR TR Rvarae T |
@ Critically examine the policies of 'export promotion‘ and 'import substitution’ as

a means of mdustnahsatlon in less developed countries.
HEES (O R Sred SOy Rend @i adw @an Wﬁﬁ%&lﬂw S g
TS ROEe o9 |

c Comment on different forms of foreign investment. Critically evaluate the role of

FDI in economic development of less developed countries. 5+10

fafen eiom awe Rifvmmem s W1 TEEe el ﬁasre‘_r_lrol-aa SRR
SAACAREP T A |

dj Critically discuss the advantages and disadvantages of transfer of technology to
LDCs by MNCs.’ ' '

FERS (rrofie wwefer e offe Temre e ¢ wq%mo%m@%wmww
B T |
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